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2013 28 R 20134F E |20134 FE | 20134 FE (20134 E | fAA
VR e "z ENL | ER | AF
1k 1T |[EIWHTA 150 150 100 150|550
1K %8 |EERTC 150 150 100 150|550
| 3|f8 thil BITHTA 50 200! 13 200| 463
| 4|F%0O $HE |RERIHRU 200 25 100| 325
5[/\ViE BAK|V—F7IhIL 200! 13 100| 313
6l BN |YKK 50 200] 250

6| KM B [FAHEMTA 100 50 100| 250!
| 6fA #hth |FEFHTA 100 50 100|250
o|tk#E {— |[SERTC 100 100 25 225
| 9l#iMm & |TChit-vay 200 25 225
1EEK X | KBRKE—Y 100 100 13| 213
12|88 EA [z—T 50 50 50 50] 200
13[FR HEA [EUTHTA 50 50 50| 150
| _14|F@E & HEIEBTA 25 100 13| 138
| 15\#il ##n |EWTHTA 25 50 25 25 125
16|58 FBE [TCAIE-Yay 25 25 13 50 113
16| B #2484 |[EMRTC 25 25 13 50 113
18|28 HAME L& 6 100 6| 112
|_191F =& BEHTA 50 50 6| 106
|_20/#)Il Rk |EWHTA 25 50 25| 100
213%M FiE |[ZWMHTA 6 13 50 25| 94
2|ME FE |HIHD 50 25 13| 88
238k ESH |[EWHTA 25 25 25| 75
|_23|% M— AVTvY 25 25 25 75
25\3R A #HLEREIHTA 25 25 13| 63
26/FH ff |EWHTA 25 13 13| 51
| 26[@E A [Tcmi-vay 25 13 13| 51
26[H+E KBt TAF 13 25 13| 51
20| EF FEME |EIMTITA 50 50
| 29|%M %7 |[SEMERTC 25 25 50
| 29[#AF FEAM [YKK 25 25 50
29| AT ##E |HCS 25 25 50
29[#1M 1§ |SERTC 50 50
29[5EK % ABRE—Y 50 50
29| Kk 18 ELERAE 50| 50
|_20/¥a3t % |=LERSE 50| 50
20|% % Rt |EWERASE 50/ 50
20|83 BF |ELERATE 50| 50
|_39|t&15 % |Team Wish 6 25 13 44
40/liEA #Eh PRKRTHTA 13 13 13| 39
4%l B BELFITE 13 25 38
41| Eth [BWUTHTA 13 25 38
41| XE BF |[t2T47 13 25 38
41162 Bhy [EINHTA 13 25| 38
45|HE FE [PHIIBTA 13 13 6| 32
45| X% AR [EWHTA 13 6 13| 32
47| B— [t T4T 25 6| 31
48|EM RS [J\ETC 13 13| 26
48|EH BN | TA4T 13 13 26
& 13 13 26

13 13 26

13 13 26

S3|FER Bl |RAR—VASk 6 6 13| 25
53|=ER FA| [RR—YAfF 6 6 13| 25
53|ATF filE |[RRKAH 25 25
53|l FF |SHERTC 25 25
53|db#t 1E BEHTA 25 25
53|44 R |ELERGRE 25] 25
|53/ M @4 |FLERSE 25] 25
60| KA EH [EWHTA 13 6 19
60|F8F fEHh |/\ETC 6 13 19
60[RTF % BEWHTA 6 13 19
60|{E% 4 |KMTS 6 13 19
60[LUTF mth |EMTHTA 6 13 19
60[ME F= |EWMHTA 6 13 19
60| )il % AERTA 6 13 19
67[#4AT BERTC 3 13 16
68|tha H— [MBFHTA 13 13
68l/hep FAT |t TAT 13 13
68| E£F X |EHE 13 13
68/ % A& |TCmIE-Yay 13 13
68|ffH X |TCRIE-—Y3y 13 13
|_68|#&zf% iE SRKE 13 13
|_68)Il#8 hidk |YKK 13 13
| _68[FM A [YKK 13 13
| 76588 F&E |RESHOTT 6 6| 12
|_76/#M FIE |SEHTA 6 6 12
76| k& F A#MTS 6 6| 12
T6REE t— |FERITA 6 6| 12
76|l BAE |1~ TvY 6 6 12
76 = 6 6 12
76 6 6] 12
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6 6 12

6 6 12

6 6] 12
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3 6 9

3 6 9

3 6 9

3 6 9

3 6 9

3 6 9
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6 6

6 6
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95 ¥F |TF—X 6 6
|_95/8i% #h4E |EWMHTA 6 6
954t #th |EMHTA 6 6
9547 & BEWHTA 6 6
95| 5M #HE |t T47 6 6
95| K& EE |YKK 6 6
|_95|fM # ATy 6 6
| 95[FEAX MK [EWHTA 6 6
95|/NE R |1V TvD 6 6
95|%2M fH— |SEHTA 6 6
5|EE —% |biifdF 6 6
|_95[#a3F A2TIY 6 6
95[KA B— |HIAKMTA 6 6
|_95/324 #EB |t T47 6 6
| _95|tEA B |AMTS 6 6
|_95/%5M XZ |ELERSE 6 6
95 & {FAEN & L E KR 6 6
95| Sl |ELWERE 6 6
95| R &)l EEEWERLRE 6 6
95|3ZM @1E |ELERTRE 6 6
%5|TEE 2 BWERSRE 6 6
95| KM # ELERAE 6 6
| 95|4EM HE |ELERMSE 6 6
| 95|%)Il 3 |ELERGRE 6 6
|_95|F #ik ELEERARE 6 6
126kt Kt T4F 3 3
126|Hth M |t T4F 3 3
| 126|#% R #EE |[SERTC 3 3




